True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #1
Main Chicago 1/70

Panel #EX1 Length: 11" 10-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 14' 10-9/16"

L 11'10-1/2" |

3 =
[To]
< o B A A C
0| 0
| Av
Tk L L L }' 7116 0SB (9)
1 1A 7 7o 7 70 T2 1

| I N I I N

Top Plates: 2x6 SPF #2 11'10-1/2" Bottom Plates: 2x6 SPF #2 11' 10-1/2"
Studs: (10) 2x6 SPF #2 8' 8-5/8"
Exterior Sheathing:  Start: Fly 5-1/2"  End: Flush




TrueBuild

SOFTWARE SUITE

Main Chicago

Panel Production

10/19/2022
Bundle #1
2/70

Panel #EX2 Length: 12' 2-1/2" Height: 9' 1-1/8" First Stud Face @6' 8-3/4" (1' 4" o.c.)

" 12'2:-1/2"

Diagonal: 15' 1-13/16"

512 1
(2)/2

7'10-7/8"

5'4-7/8"

HE ‘
P ) -
= o B A A C
0|
' 5-1/2
-~ L L L L )
1 2572 1 70 1 70 T35 17160889
B 2x8 L
i 0 T T 1
© © @
(32l —
© ~ <
~ co

Top Plates: 2x6 SPF #2 12'2-1/2" Bottom Plates: 2x6 SPF #2 12'2-1/2"
Studs: (4) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
B (7' 9-3/8") @ Start 5'6"
2x8 L (2x8 Dn) 7' 7-3/8" 8'4-1/8"

Exterior Sheathing:  Start: Flush  End: Flush



TrueBuild

SOFTWARE SUITE

Main

Chicago

Panel Production

10/19/2022
Bundle #1
3/70

Panel #EX3 Length: 12' 0" Height: 9' 1-1/8" First Stud Face @2' 6-1/4" (1' 4" o.c.)

Diagonal: 14' 11-3/4"

L 12'0" ,
1 7
B B A i D
N ¥ FAT o + 78 f—5—4 7160889
38 2X6 L 2X6 L
W1 [ S
&k S Sy
Top Plates: 2x6 SPF #2 12'0" Bottom Plates: 2x6 SPF #2 12'0"
Studs: (8) 2x6 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
38 1'2-1/2" 17"
2X6 L (2x6 Dn) 8' 0-1/4" 8' 7-1/4"
2X6 L (2x6 Dn) 11' 3-3/4" 11' 10-3/4"

Exterior Sheathing:  Start: Flush  End: Flush



TrueBuild

Panel Production

SOFTWARE SUITE 1071972022
Bundle #1
Main Chicago 4/70
Panel #EX4 Length: 11' 8" Height: 9' 1-1/8" First Stud Face @1' 2-1/4" (1' 4" o.c.) Diagonal: 14' 8-9/16"
L 11'8 )
1 1
29 B A ¢ D
- £ T + 70 * 78 + T6172" 1 7116 088 (9)

Top Plates: 2x6 SPF #2 11'8"
Studs: (10) 2x6 SPF #2 8' 8-5/8"
Exterior Sheathing:  Start: Flush  End: Fly 5-1/2"

Bottom Plates: 2x6 SPF #2 11'8"



TrueBuild

Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #1
Main Chicago 5/70
Panel #EX5 Length: 14' 8" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 17' 2-5/16"
A 14'8" ,
1 7
T T A
2&2 ) 2x1 (2) 2x12
' 7'10-7/8" 7'10-7/8"
28" 2'8" 2'8"
Q& X X X
f E A 40" A 6'0" A 6'0" 'E
54X iiE 182"
- ¥ T + 70 + T + 78 4 7716 088 (9)
2X6 L A A A 2X6 L.
— Ui I
~ & ad =& & =
i T w P \n <
© e g iy -

Top Plates: 2x6 SPF #2 14'8" Bottom Plates: 2x6 SPF #2 14'8"

Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Dn) @ Start 7"

A (7' 9-3/8") 2'6-1/2" 5'8-1/2"
A (7' 9-3/8") 5'9" 8 11"

A (7' 9-3/8") 8'11-1/2" 12" 1-1/2"
2X6 L (2x6 Dn) 14' 1" @ End

Exterior Sheathing:  Start: Flush  End: Flush



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #1
Main Chicago 6/70

Panel #EX6 Length: 2'4" Height: 9' 1-1/8" First Stud Face @1' 0-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

o 4n

8'11-5/8
8' 8-5/8"
>

—

—

534 7/16 OSB (9)

2X6 L

|
=
-

Top Plates: 2x6 SPF #2 2'4" Bottom Plates: 2x6 SPF #2 2'4"
Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) 19" @ End

Exterior Sheathing:  Start: Fly 5-1/2"  End: Hold 6"



TrueBuild

SOFTWARE SUITE

Main Chicago

Panel Production
10/19/2022

Bundle #1
7/70

Panel #EX7 Length: 5'3" Height: 9' 1-1/8"

Diagonal: 10' 4-11/16"

-

() 2x12

6' 10"

8' 11-5/8"
8'8-5/8"

+ 7116 08B (9)

1 7o

Entry

Ty

9-1/2"

Top Plates: 2x6 SPF #2 5'3"
Studs: 2x6 SPF #2 8' 8-5/8"

4'5-1/2"

Bottom Plates: 2x6 SPF #2 5' 3"

Components & Subcomponents Start End
Entry (6' 8-1/2") 9-1/2" 4'5-1/2"
2X6 L (2x6 Dn) 4'8" @ End
Exterior Sheathing:  Start: Flush  End: Flush



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #1
Main Chicago 8/70

Panel #EX8 Length: 2'4" Height: 9' 1-1/8" First Stud Face @1' 2-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

, 2'4" ,

8'11-5/8"
8' 8-5/8"
>

-

b 6088 (9)

2X6 L

[
~

Top Plates: 2x6 SPF #2 2'4" Bottom Plates: 2x6 SPF #2 2'4"
Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) @ Start 7"

Exterior Sheathing:  Start: Hold 6"  End: Fly 5-1/2"



TrueBuild

SOFTWARE SUITE

Main

Panel Production
10/19/2022

Bundle #1

Chicago

9/70

Panel #EX9 Length: 14' 3" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.)

Diagonal: 16' 10-1/16"

4 7116 08B (9)

L 14' 3
1 1
= N i i i
B V7 S
(2) 2x12 (2) 2x12 (2) 2x12
7°10-7/8" 7710-7/8" 7°10-7/8"
2'8" 2'8"
X & X X
0 5 6'0" 6'0"
253 A A A B
0| ©
h@“* n-1/2" 19"
-~y L L L
1 7o 1 o 1 o 1 273
2X6 L A A A 2X6 L
| | A A | |
~ N <+ o N — ©
&N o - - N )
© o 0 — —
o) oo

Top Plates: 2x6 SPF #2 14'3" Bottom Plates: 2x6 SPF #2 14'3"

Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"

A (7' 9-3/8") 2'2" 5'4"

A (7' 9-3/8") 5'6-1/2" 8' 8-1/2"
A (7' 9-3/8") 8 11" 12" 1"
2X6 L (2x6 Dn) 13'8" @ End

Exterior Sheathing:  Start: Flush  End: Flush



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #1
Main Chicago 10/70

Panel #EX10 Length: 2'4" Height: 9' 1-1/8" First Stud Face @1' 0-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

o 4n

8'11-5/8
8' 8-5/8"
>

—

—

534 7/16 OSB (9)

2X6 L

|
=
-

Top Plates: 2x6 SPF #2 2'4" Bottom Plates: 2x6 SPF #2 2'4"
Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) 19" @ End

Exterior Sheathing:  Start: Fly 5-1/2"  End: Hold 6"



TrueBuild

Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #1
Main Chicago 11/70
Panel #EX11 Length: 5’9" Height: 9' 1-1/8" Diagonal: 10' 7-7/8"
L 59" |
1 7
172"

) 2 }Z

6'10"

4 7116 08B (9)

%
3% 3
| o 7
o) 0|
gtgt \/
/[ 1A9u
Entry 2X6 L
o]
Q Qo
— - i
o )
- <

Top Plates: 2x6 SPF #2 5'9" Bottom Plates: 2x6 SPF #2 5'9"

Studs: 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
Entry (6' 8-1/2") 1'0-1/2" 4'8-1/2"
2X6 L (2x6 Dn) 5'2" @ End
Exterior Sheathing:  Start: Flush  End: Flush



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #1
Main Chicago 12/70

Panel #EX12 Length: 2' 4" Height: 9' 1-1/8" First Stud Face @1' 2-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

, 2'4" ,

8'11-5/8"
8' 8-5/8"
>

-

b 6088 (9)

2X6 L

[
~

Top Plates: 2x6 SPF #2 2'4" Bottom Plates: 2x6 SPF #2 2'4"
Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) @ Start 7"

Exterior Sheathing:  Start: Hold 6"  End: Fly 5-1/2"



TrueBuild

Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
Main Chicago 13/70
Panel #EX13 Length: 14' 9" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 17' 3-1/8"
L 14'9" ,
1 7
T 75 (STl Tt
/é 2\\12 @ 2x% (2) 2x12
7'10-7/8" 7'10-7/8" 7'10-7/8"
N 2'8" 2'8"
| 3o X X X
E 5 A PGP A 60" A 60" B
75 {0172 78"
- ¥ 70 + T + T + 29 4 7/16 08 (9)
2X6 L A A A 2X6
[ Ui (-

Top Plates: 2x6 SPF #2 14'9" Bottom Plates: 2x6 SPF #2 14'9"

Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Dn) @ Start 7"

A (7' 9-3/8") 2'7" 5'9"

A (7' 9-3/8") 5'9-1/2" 8'11-1/2"
A (7' 9-3/8") 9'0" 12' 2"
2X6 L (2x6 Dn) 14' 2" @ End

Exterior Sheathing:  Start: Flush  End: Flush



TrueBuild

SOFTWARE SUITE

Main

Chicago

Panel Production
10/19/2022

Bundle #2
14/70

Panel #EX16 Length:

Top Plates: 2x6 SPF #2 7' 11"

7' 11" Height: 9" 1-1/8"

First Stud Face @1' 9-3/4" (1' 4" o.c.) Diagonal: 11' 11-9/16"

8'11-5/8
8' 8-5/8"

B A D
t 32 t 70 Agrt 7116 058.(9)
6L 6L 2x4L
T T
~ R o
~

5'2-1/4"
5'9-1/4"—

Bottom Plates: 2x6 SPF #2 7' 11"

Studs: (5) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2X6 L (2x6 Dn) @ Start 7"

2X6 L (2x6 Dn) 5'2-1/4" 5'9-1/4"
2X4 L (2x4 Dn) 7'6" @ End
Exterior Sheathing:  Start: Flush  End: Flush



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
Main Chicago 15/70

Panel #EX15 Length: 4' 10-1/2" Height: 9' 1-1/8" Diagonal: 10' 2-1/2"

L 4'10-1/2" L
1 1
e
(g
(2) 2x12
610"
o & B
% @
¥ oy F——7— 7/16 0SB (9)
Entry
) )
- <

Top Plates: 2x6 SPF #2 4'10-1/2" Bottom Plates: 2x6 SPF #2 4' 10-1/2"
Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

Entry (6' 8-1/2") 10" 4'6"
Exterior Sheathing:  Start: Flush  End: Fly 5-1/2"




o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #2

Main Chicago 16/70
Panel #EX19 Length: 14' 11-1/2" Height: 9' 1-1/8" First Stud Face @1' 6-3/4" (1' 4" o.c.) Diagonal: 17' 5-5/16"

L 14' 11-1/2" |
1 1
Ny -
1'4-1/2" 1
#) D42
710-778"
5(0
2l
5" 4-7/8"
X
3 2
s B A A A
0|
472
1 21172 1 o g 0 1 70 7 7716 0SB (9)
x4l 281 B
S ]
23 o B A 5
~ fre} o) b2}
< - -
[re] ©

Top Plates: 2x6 SPF #2 14'11-1/2" Bottom Plates: 2x6 SPF #2 14'11-1/2"
Studs: (5) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2X4 L (2x4 Dn) @ Start 5"

2x8 L (2x8 Dn) 5'4-7/8" 6' 1-5/8"
B (7' 9-3/8") 8'3" 13'9"

Exterior Sheathing:  Start: Flush  End: Flush



TrueBuild

SOFTWARE SUITE

Main Chicago

Panel Production
10/19/2022

Bundle #2
17/70

Panel #EX20 Length: 10' 8" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 13' 11-1/4"

L 108"

8' 11-5/8"

8'8-5/8
>
>

=<

L
RRT7] A 7/16 0SB (9)

I I I I

Top Plates: 2x6 SPF #2 10'8" Bottom Plates: 2x6 SPF #2 10'8"
Studs: (9) 2x6 SPF #2 8' 8-5/8"
Exterior Sheathing:  Start: Flush  End: Fly 5-1/2"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
Main Chicago 18/70

Panel #EX14 Length: 2'4" Height: 9' 1-1/8" First Stud Face @1' 0-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

o 4n

8'11-5/8
8' 8-5/8"
>

—

—

534 7/16 OSB (9)

2X6 L

|
=
-

Top Plates: 2x6 SPF #2 2'4" Bottom Plates: 2x6 SPF #2 2'4"
Studs: (2) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) 19" @ End

Exterior Sheathing:  Start: Fly 5-1/2"  End: Hold 6"



TrueBuild

SOFTWARE SUITE

Panel Production
10/19/2022

Bundle #2
19/70

Main Chicago
Panel #EX17 Length: 7' 3-1/2" Height: 19' 7" First Stud Face @6-3/4" (1' 4" o.c.)
' 7'3-1/2" +
| [sfp% c
(')) 2x1
17'7-7/8"
B A
yy
43
i
B A
- gt 0 + 7/16 OSB (9)

Top Plates: 2x6 SPF #2 7' 3-1/2"
Studs: (5) 2x6 SPF #2 19'2-1/2"

Bottom Plates: 2x6 SPF #2 7' 3-1/2"

Diagonal: 20' 9-3/8"

Components & Subcomponents Start End
CSPEC (17' 6-3/8") 11" 4'1"
Exterior Sheathing:  Start: Flush  End: Flush

Blocking & Letin

2x6 SPF #2 Inline At: 9' 0", 18' 0"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #2
Main Chicago 20/70

Panel #EX18 Length: 5' 0-1/2" Height: 19' 7" Diagonal: 20' 1-3/16"

X 5'0-1/2" ,
1 A
o3 |p
{7) 212
17'7-7/18"
2'6"
X
2'6/
A B
al &
i |
oo
{573
A B
¥ v 57 7/16 088 (9)

Top Plates: 2x6 SPF #2 5'0-1/2" Bottom Plates: 2x6 SPF #2v5' 0-1/2"
Studs: (2) 2x6 SPF #2 19'2-1/2"

Components & Subcomponents Start End

CSPEC (17" 6-3/8") 1'3-1/2" 4' 3-1/2"
Exterior Sheathing:  Start: Flush  End: Flush

Blocking & Letin
2x6 SPF #2 Inline At: 9' 0", 18' 0"




True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
Main Chicago 21/70

Panel #21 Length: 16' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"

8' 11-5/8"
8' 8-5/8

Top Plates: 2x4 SPF #2 16'Q" Bottom Plates: 2x4 SPF #2 16'0Q"
Studs: (13) 2x4 SPF #2 8' 8-5/8"



TrueBuild

SOFTWARE SUITE

Main

Chicago

Panel Production
10/19/2022

Bundle #3
22/70

Panel #22 Length: 9' 7-1/2" Height: 9' 1-1/8"

First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 13' 1-7/8"

8' 11-5/8"
8' 8-5/8

L 9'7-1/2"
1
2x8 L 2X4 L
N i N ‘ | i %N
& &
N re] =
1o) ~ N
™ < >

Top Plates: 2x4 SPF #2 9'7-1/2" Bottom Plates:

Studs: (6) 2x4 SPF #2 8' 8-5/8"

2x4 SPF #2 9'7-1/2"

Components & Subcomponents Start End
2x8 L (2x8 Up) 3'5-7/8" 4' 2-5/8"
@ End

2X4 L (2x4 Up) 9'2-1/2"



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #3

Main Chicago 23/70
Panel #42 Length: 2' 0-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 2-3/8"

,  2'0-1/2" ,

8' 11-5/8"
8'8-5/8

2X4 L

1 71/2@

Top Plates: 2x4 SPF #2 2'0-1/2" Bottom Plates: 2x4 SPF #2 2'0-1/2"
Studs: (2) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2X4 L (2x4 Dn) 1 7-1/2" @ End




o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #3

Main Chicago 24170

Panel #37 Length: 2' 4-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 3-5/16"

, 2'4-1/2" ,

8'11-5/8
8' 8-5/8"

2'1-1/2"—

Top Plates: 2x4 SPF #2 2'4-1/2" Bottom Plates: 2x4 SPF #2 2'4-1/2"
Studs: 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Dn) @ Start 5"
2S 2'1-1/2" @ End




Panel Production

TrueBuild
SOFTWARE SUITE 10/19/2022
Bundle #3
Main Chicago 25/70
Panel #24 Length: 7' 5-1/2" Height: 9' 1-1/8" First Stud Face @7-3/4" (1' 4" o.c.) Diagonal: 11' 8"
| 7'5-1/2" L
1 7
2X4L 2X6 L
=K M= N i i i

2'1-3/4"—
2'8-3/4"—

2x4 SPF #2 7'5-1/2" Bottom Plates: 2x4 SPF #2 7' 5-1/2"

Top Plates:
Studs: (6) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
2X4 L (2x4 Up) @ Start 5"
2' 1-3/4" 2' 8-3/4"

2X6 L (2x6 Up)



TrueBuild

SOFTWARE SUITE

Main Chicago

Panel Production
10/19/2022

Bundle #3
26/70

Panel #41 Length: 5' 0-3/4" Height: 9' 1-1/8" Diagonal: 10' 3-9/16"

L 5'0-3/4"
}
57
(2) 2x8
6' 10"
& %
0 5
=|
a) o]
2'10"
X
6'10"
2/8
— I
& &
™ ™
S &
- E

Top Plates: 2x4 SPF #2 5'0-3/4" Bottom Plates: 2x4 SPF #2 5'0-3/4"
Studs: (2) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2/8 (6' 8-1/2") 10-3/8" 4' 2-3/8"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
Main Chicago 27170

Panel #44 Length: 2' 0-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o0.c.) Diagonal: 9' 2-3/8"

, 2'0-1/2" ,

8'11-5/8
8'8-5/8"

2X4 L

Top Plates: 2x4 SPF #2 2'0-1/2" Bottom Plates: 2x4 SPF #2 2'0-1/2"
Studs: (2) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2X4 L (2x4 Dn) @ Start 5"




True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
Main Chicago 28/70

Panel #43 Length: 3' 0" Height: 9' 1-1/8" Diagonal: 9' 5-1/2"

L 30 |
1 1
72"
(2) 2x6
6' 10"
& %
i
22"
X
6' 10"
Pantry
NP<N WN
N 2
N
Top Plates: 2x4 SPF #2 3'0" Bottom Plates: 2x4 SPF #2 3'0"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

Pantry (6' 8-1/2") 2" 2'10"



TrueBuild

SOFTWARE SUITE

Main

Chicago

Panel Production
10/19/2022

Bundle #3
29/70

Panel #0 Length: 5' 0-3/4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 3-9/16"

Top Plates:
Studs:

2 5'0-3/4"

-

8' 11-5/8"
8'8-5/8

" N X N

2x4 SPF #2 5'0-3/4" Bottom Plates: 2x4 SPF #2 5' 0-3/4"
(5) 2x4 SPF #2 8'8-5/8"



TrueBuild

SOFTWARE SUITE

Main

Chicago

Panel Production
10/19/2022

Bundle #3
30/70

Panel #39 Length: 7' 5-1/2" Height:

9'1-1/8" First Stud Face @6' 7-1/4" (1' 4" o.c.) Diagonal: 11' 8"

L 7'5-1/2"
1 1
L
" 1-1/2"
(2) 2x10
6' 10"
% 5
W B
=| 0|
0 ©0
42"
X
6'10"
gvgv
4/0co 2X4 L 2X4 L
N\D(N [ [
Y S & IS
T o ~
=

Top Plates: 2x4 SPF #2 7'5-1/2"
Studs: (2) 2x4 SPF #2 8' 8-5/8"

Bottom Plates: 2x4 SPF #2 7' 5-1/2"

Components & Subcomponents Start End
4/0co (6' 8-1/2") 2-1/2" 4'10-1/2"
2X4 L (2x4 Up) 4' 10-1/2" 5'3-1/2"
2X4 L (2x4 Up) 7' 0-1/2" @ End



TrueBuild

SOFTWARE SUITE

Main

Chicago

Panel Production

10/19/2022
Bundle #3
31/70

Panel #36 Length: 8' 10-1/2" Height: 9' 1-1/8"

8' 11-5/8"
8' 8-5/8

Top Plates: 2x4 SPF #2 8'10-1/2"

First Stud Face @3' 11-1/4" (1' 4" o.c.)

Diagonal: 12' 7-7/16"

8'10-1/2"
.
Y O
(2) 2x8 (2) 2x8
6' 10" 6' 10"
2'10" 22"
X X
6' 10" 6' 10"
2/8 2X6 L 2/0st
XN N N

I !
< —
e} [te}

Studs: (2) 2x4 SPF #2 8' 8-5/8"

L
©
[ro)

Bottom Plates: 2x4 SPF #2 8' 10-1/2"

Components & Subcomponents Start End
2/8 (6' 8-1/2") @ Start 3'4"
2X6 L (2x6 Dn) 51" 5'8"

2/0st (6' 8-1/2")

5l 8" 8! 4"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
Main Chicago 32/70

Panel #45 Length: 2' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 2-1/4"

, 2'0" )
28
N O
1
Top Plates: 2x4 SPF #2 2'0Q" Bottom Plates: 2x4 SPF #2 2' 0"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

28 19" @ End



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
Main Chicago 33/70

Panel #38 Length: 5'5" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 5-3/4"

L 5'5 )y
1 1
3%
= =
| 0|
X X i X i
Top Plates: 2x4 SPF #2 5'5" Bottom Plates: 2x4 SPF #2 5'5"

Studs: (5) 2x4 SPF #2 8' 8-5/8"



TrueBuild

Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
Main Chicago 34/70
Panel #35 Length: 15" 1-1/4" Height: 9' 1-1/8" First Stud Face @4-1/2" (1' 4" o.c.) Diagonal: 17' 6-13/16"
L 15' 1-1/4" L
1 1
1T 4-172"
(2) 2x10
6' 10"
2'10"
X
6' 10"
N m N N N N N N 2X6 L GtoH 2X6 L N
= = = = = :‘
R 352

Top Plates: 2x6 SPF #2 15'1-1/4" Bottom Plates: 2x6 SPF #2 15' 1-1/4"
Studs: (9) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) 8" 11-1/2" 9'6-1/2"

GtoH (6' 8-1/2") 9' 8-3/4" 13' 0-3/4"

2X6 L (2x6 Up) 13' 3" 13" 10"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
Main Chicago 35/70

Panel #23 Length: 12'4" Height: 10' 5-7/8" First Stud Face @11-3/4" (1' 4" o.c.) Diagonal: 16' 1-5/16"

2 12' 4" .

10'4-3/8"
10' 1-3/8"

N N X X N N X X N NN

Top Plates: 2x4 SPF #2 12'4" Bottom Plates: 2x4 SPF #2 12'4"
Studs: (11) 2x SPF 1650 10' 1-3/8"




True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #3
Main Chicago 36/70

Panel #178 Length: 4' 0" Height: 8' 11-5/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 9-13/16"

8' 11-5/8"
8'8-5/8"

I

Top Plates: 2x6 SPF #2 4'Q" Bottom Plates: 2x6 SPF #2 4' Q"
Studs: (4) 2x6 SPF #2 8' 8-5/8"




True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
Main Chicago 37/70

Panel #27 Length: 16' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"

8' 11-5/8"
8' 8-5/8

Top Plates: 2x4 SPF #2 16'Q" Bottom Plates: 2x4 SPF #2 16'0Q"
Studs: (13) 2x4 SPF #2 8' 8-5/8"



TrueBuild

Panel Production

SOFTWARE SUITE 1071912022
Bundle #4
Main Chicago 38/70
Panel #26 Length: 16' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"
L 16'0" |
1 1
3S 2x8 L
X X X m X i X | ‘ i i i
Top Plates: 2x4 SPF #2 16'Q" Bottom Plates: 2x4 SPF #2 16'0Q"
Studs: (11) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
38 6'4" 6'8-1/2"
11' 9-3/8" 12' 6-1/8"

2x8 L (2x8 Up)



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #4

Main Chicago 39/70

Panel #25 Length: 13'5" Height: 9' 1-1/8" First Stud Face @1' 4-1/4" (1' 4" o.c.) Diagonal: 16' 1-11/16"

13' 5" L
A

8'11-5/8"
8' 8-5/8

2X6 L 2X6 L

9'5-1/4"—
12' 8-3/4"—
13'3-3/4"—

10' 0-1/4"—

Top Plates: 2x4 SPF #2 13'5" Bottom Plates: 2x4 SPF #2 13'5"
Studs: (9) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) 9' 5-1/4" 10' 0-1/4"
2X6 L (2x6 Up) 12' 8-3/4" 13' 3-3/4"




True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
Main Chicago 40/70

Panel #54 Length: 2' 4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

, 2'4" ,
&l %
2
2X4 L
M N =X
1
Top Plates: 2x4 SPF #2 2'4" Bottom Plates: 2x4 SPF #2 2'4"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

2X4 L (2x4 Up) 111" @ End



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
Main Chicago 41/70

Panel #55 Length: 3' 0" Height: 9' 1-1/8" Diagonal: 9' 5-1/2"

L 30 |
1 1
72"
(2) 2x6
6' 10"
& %
i
22"
X
6' 10"
Pantry
NP<N WN
N 2
N
Top Plates: 2x4 SPF #2 3'0" Bottom Plates: 2x4 SPF #2 3'0"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

Pantry (6' 8-1/2") 2" 2'10"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
Main Chicago 42/70

Panel #56 Length: 2' 4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

L 2'4" |
1 7
& &
2%
2X4L
]
Top Plates: 2x4 SPF #2 2'4" Bottom Plates: 2x4 SPF #2 2'4"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

2X4 L (2x4 Up) @ Start 5"



TrueBuild

SOFTWARE SUITE

Main

Panel Production

10/19/2022
Bundle #4
Chicago 43/70
Panel #52 Length: 7' 5-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 11' 8"
L 7'5-1/2" |
1 1
15"
(2) 2x10
6' 10"
4'2"
X
6'10"
2X4L 2X4 L 4/0co
\ Il ,\N\N

Top Plates:

2x4 SPF #2 7'5-1/2" Bottom Plates: 2x4 SPF #2 7' 5-1/2"

Studs: (2) 2x4 SPF #2 8' 8-5/8"

2X4 L (2x4 Dn)
2X4 L (2x4 Dn)

Components & Subcomponents Start End
@ Start 5"
2l 2" 2! 7ll
2l 7" 7! 3"

4/0co (6' 8-1/2")



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
Main Chicago 44/70

Panel #47 Length: 2' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 2-1/4"

, 2'0" )
28
N O
1
Top Plates: 2x4 SPF #2 2'0Q" Bottom Plates: 2x4 SPF #2 2' 0"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

28 19" @ End



TrueBuild

SOFTWARE SUITE

Main Chicago

Panel Production
10/19/2022

Bundle #4
45/70

Panel #53 Length: 5' 6-3/4" Height: 9' 1-1/8" First Stud Face @5' 3-1/4" (1' 4" o.c.) Diagonal: 10' 6-5/8"

L 5'6-3/4" |
1 7
by
(2) 2x8
6 10"
X %
W ]
|
5|
2'10"
X
610"
2/8
i P<N W XX
& &
(32} (32}
- res
= %

Top Plates: 2x4 SPF #2 5'6-3/4" Bottom Plates: 2x4 SPF #2 5'6-3/4"
Studs: (3) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2/8 (6' 8-1/2") 1'1-3/8" 4' 5-3/8"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
Main Chicago 46/70

Panel #51 Length: 5' 6-3/4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 6-5/8"

L 5'6-3/4" l
1 1

Atﬁv

Xl %

W

=

30| %

L

L

X X N N XX

Top Plates: 2x4 SPF #2 5'6-3/4" Bottom Plates: 2x4 SPF #2 5'6-3/4"
Studs: (6) 2x4 SPF #2 8' 8-5/8"



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #4

Main Chicago 47/70

Panel #49 Length: 2' 4-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 3-5/16"

, 2'4-1/2" ,

8'11-5/8
8' 8-5/8"

2'1-1/2"—

Top Plates: 2x4 SPF #2 2'4-1/2" Bottom Plates: 2x4 SPF #2 2'4-1/2"
Studs: 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Dn) @ Start 5"
2S 2'1-1/2" @ End




True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
Main Chicago 48/70

Panel #50 Length: 5'5" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 5-3/4"

L 5'5 )y
1 1
3%
= =
| 0|
X X i X i
Top Plates: 2x4 SPF #2 5'5" Bottom Plates: 2x4 SPF #2 5'5"

Studs: (5) 2x4 SPF #2 8' 8-5/8"



TrueBuild

SOFTWARE SUITE

Main

Chicago

Panel Production

10/19/2022
Bundle #4
49/70

Panel #48 Length: 8' 10-1/2" Height: 9' 1-1/8"

8' 11-5/8"
8' 8-5/8

Top Plates: 2x4 SPF #2 8'10-1/2"

First Stud Face @3' 11-1/4" (1' 4" o.c.)

Diagonal: 12' 7-7/16"

8'10-1/2"
.
Y O
(2) 2x8 (2) 2x8
6' 10" 6' 10"
2'10" 22"
X X
6' 10" 6' 10"
2/8 2X6 L 2/0st
XN N N

I !
< —
e} [te}

Studs: (2) 2x4 SPF #2 8' 8-5/8"

L
©
[ro)

Bottom Plates: 2x4 SPF #2 8' 10-1/2"

Components & Subcomponents Start End
2/8 (6' 8-1/2") @ Start 3'4"
2X6 L (2x6 Dn) 51" 5'8"

2/0st (6' 8-1/2")

5l 8" 8! 4"



TrueBuild

Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
Main Chicago 50/70
Panel #46 Length: 15" 1-1/2" Height: 9' 1-1/8" First Stud Face @4-3/4" (1' 4" o.c.) Diagonal: 17' 7"
2 15'1-1/2" L
1 1
T4
(2) 2x10
6'10"
2'10"
X
6'10"
2X6 L GtoH 2X6 L
11 I I I I LIl
Txd Sy

Top Plates: 2x6 SPF #2 15'1-1/2"

Studs: (9) 2x6 SPF #2 8' 8-5/8"

Bottom Plates: 2x6 SPF #2 15' 1-1/2"

Components & Subcomponents Start End

2X6 L (2x6 Up) 8' 11-3/4" 9' 6-3/4"
GtoH (6' 8-1/2") 9'9" 13'1"

2X6 L (2x6 Up) 13' 3-1/4" 13'10-1/4"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
Main Chicago 51/70

Panel #28 Length: 16' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"

8' 11-5/8"
8' 8-5/8

Top Plates: 2x4 SPF #2 16'Q" Bottom Plates: 2x4 SPF #2 16'0Q"
Studs: (13) 2x4 SPF #2 8' 8-5/8"



TrueBuild

SOFTWARE SUITE

Main

Chicago

Panel Production
10/19/2022

Bundle #4
52/70

Panel #29 Length: 9' 7-1/2" Height: 9' 1-1/8"

First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 13' 1-7/8"

8' 11-5/8"
8' 8-5/8

L 9'7-1/2"
1
2x8 L 2X4 L
N i N ‘ | i %N
& &
N re] =
1o) ~ N
™ < >

Top Plates: 2x4 SPF #2 9'7-1/2" Bottom Plates:

Studs: (6) 2x4 SPF #2 8' 8-5/8"

2x4 SPF #2 9'7-1/2"

Components & Subcomponents Start End
2x8 L (2x8 Up) 3'5-7/8" 4' 2-5/8"
@ End

2X4 L (2x4 Up) 9'2-1/2"



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
Main Chicago 53/70

Panel #30 Length: 12'4" Height: 10' 5-7/8" First Stud Face @11-3/4" (1' 4" o.c.) Diagonal: 16' 1-5/16"

2 12' 4" .

10'4-3/8"
10' 1-3/8"

N N X X N N X X N NN

Top Plates: 2x4 SPF #2 12'4" Bottom Plates: 2x4 SPF #2 12'4"
Studs: (11) 2x SPF 1650 10' 1-3/8"




Panel Production

TrueBuild
SOFTWARE SUITE 10/19/2022
Bundle #4
Main Chicago 54/70
Panel #31 Length: 7' 5-1/2" Height: 9' 1-1/8" First Stud Face @7-3/4" (1' 4" o.c.) Diagonal: 11' 8"
| 7'5-1/2" |
1 1
2X4L 2X6 L
=K M‘N&‘ i i i i
Top Plates: 2x4 SPF #2 T7'5-1/2" Bottom Plates: 2x4 SPF #2 7'5-1/2"
Studs: (6) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
2X4 L (2x4 Up) @ Start 5"
2'1-3/4" 2' 8-3/4"

2X6 L (2x6 Up)



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #4
Main Chicago 55/70

Panel #179 Length: 4' 0" Height: 8' 11-5/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 9-13/16"

8' 11-5/8"
8'8-5/8"

I

Top Plates: 2x6 SPF #2 4'Q" Bottom Plates: 2x6 SPF #2 4' Q"
Studs: (4) 2x6 SPF #2 8' 8-5/8"




True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
Main Chicago 56/70

Panel #34 Length: 16' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"

8' 11-5/8"
8' 8-5/8

Top Plates: 2x4 SPF #2 16'Q" Bottom Plates: 2x4 SPF #2 16'0Q"
Studs: (13) 2x4 SPF #2 8' 8-5/8"



TrueBuild

Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
Main Chicago 57170
Panel #33 Length: 16' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 18' 4-1/8"
L 16'0" |
1 1
3S 2x8 L
X X X m X i X | ‘ i i i
Top Plates: 2x4 SPF #2 16'Q" Bottom Plates: 2x4 SPF #2 16'0Q"
Studs: (11) 2x4 SPF #2 8' 8-5/8"
Components & Subcomponents Start End
38 6'4" 6'8-1/2"
11' 9-3/8" 12' 6-1/8"

2x8 L (2x8 Up)



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #5

Main Chicago 58/70

Panel #32 Length: 13'5" Height: 9' 1-1/8" First Stud Face @1' 4-1/4" (1' 4" o.c.) Diagonal: 16' 1-11/16"

13' 5" L
A

8'11-5/8"
8' 8-5/8

2X6 L 2X6 L

9'5-1/4"—
12' 8-3/4"—
13'3-3/4"—

10' 0-1/4"—

Top Plates: 2x4 SPF #2 13'5" Bottom Plates: 2x4 SPF #2 13'5"
Studs: (9) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X6 L (2x6 Up) 9' 5-1/4" 10' 0-1/4"
2X6 L (2x6 Up) 12' 8-3/4" 13' 3-3/4"




True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
Main Chicago 59/70

Panel #64 Length: 2' 4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

, 2'4" ,
&l %
2
2X4 L
M N =X
1
Top Plates: 2x4 SPF #2 2'4" Bottom Plates: 2x4 SPF #2 2'4"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

2X4 L (2x4 Up) 111" @ End



True BUlld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
Main Chicago 60/70

Panel #65 Length: 3' 0" Height: 9' 1-1/8" Diagonal: 9' 5-1/2"

L 30 |
1 1
72"
(2) 2x6
6' 10"
& %
i
22"
X
6' 10"
Pantry
NP<N WN
N 2
N
Top Plates: 2x4 SPF #2 3'0" Bottom Plates: 2x4 SPF #2 3'0"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

Pantry (6' 8-1/2") 2" 2'10"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
Main Chicago 61/70

Panel #66 Length: 2' 4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 3-3/16"

L 2'4" |
1 7
& &
2%
2X4L
]
Top Plates: 2x4 SPF #2 2'4" Bottom Plates: 2x4 SPF #2 2'4"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

2X4 L (2x4 Up) @ Start 5"



TrueBuild

SOFTWARE SUITE

Main

Panel Production

10/19/2022
Bundle #5
Chicago 62/70
Panel #62 Length: 7' 5-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 11' 8"
L 7'5-1/2" |
1 1
15"
(2) 2x10
6' 10"
4'2"
X
6'10"
2X4L 2X4 L 4/0co
\ Il ,\N\N

Top Plates:

2x4 SPF #2 7'5-1/2" Bottom Plates: 2x4 SPF #2 7' 5-1/2"

Studs: (2) 2x4 SPF #2 8' 8-5/8"

2X4 L (2x4 Dn)
2X4 L (2x4 Dn)

Components & Subcomponents Start End
@ Start 5"
2l 2" 2! 7ll
2l 7" 7! 3"

4/0co (6' 8-1/2")



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #5

Main Chicago 63/70

Panel #63 Length: 5' 0-1/2" Height: 9' 1-1/8" Diagonal: 10' 3-7/16"

L 5'0-1/2" L
1 1
et
(2) 2x8
6' 10"
&l 5
W
=| 0|
60 0|
210"
X
610"
2/8
N P(N W N
3 3
S &
- <

Top Plates: 2x4 SPF #2 5'0-1/2" Bottom Plates: 2x4 SPF #2 5'0-1/2"
Studs: (2) 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2/8 (6' 8-1/2") 10-1/4" 4'2-1/4"




True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
Main Chicago 64/70

Panel #58 Length: 2' 0" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 2-1/4"

, 2'0" )
28
N O
1
Top Plates: 2x4 SPF #2 2'0Q" Bottom Plates: 2x4 SPF #2 2' 0"
Studs: (2) 2x4 SPF #2 8'8-5/8"
Components & Subcomponents Start End

28 19" @ End



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE
Bundle #5

Main Chicago 65/70

Panel #60 Length: 2' 3-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 3-1/16"

, 2'3-1/2" ,

8' 11-5/8"
8' 8-5/8

2'0-1/2"—

Top Plates: 2x4 SPF #2 2'3-1/2" Bottom Plates: 2x4 SPF #2 2'3-1/2"
Studs: 2x4 SPF #2 8' 8-5/8"

Components & Subcomponents Start End

2X4 L (2x4 Dn) @ Start 5"
2S 2' 0-1/2" @ End




TrueBuild

Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
Main Chicago 66/70
Panel #61 Length: 5' 0-1/2" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 3-7/16"
L 5'0-1/2"
/[
i i X X
Top Plates: 2x4 SPF #2 5'0-1/2" Bottom Plates: 2x4 SPF #2 5'0-1/2"
Studs: (5) 2x4 SPF #2 8' 8-5/8"



TrueBuild

SOFTWARE SUITE

Main

Chicago

Panel Production

10/19/2022
Bundle #5
67/70

Panel #59 Length: 8' 10-1/2" Height: 9' 1-1/8"

8' 11-5/8"
8' 8-5/8

Top Plates: 2x4 SPF #2 8'10-1/2"

First Stud Face @3' 11-1/4" (1' 4" o.c.)

Diagonal: 12' 7-7/16"

8'10-1/2"
.
Y O
(2) 2x8 (2) 2x8
6' 10" 6' 10"
2'10" 22"
X X
6' 10" 6' 10"
2/8 2X6 L 2/0st
XN N N

I !
< —
e} [te}

Studs: (2) 2x4 SPF #2 8' 8-5/8"

L
©
[ro)

Bottom Plates: 2x4 SPF #2 8' 10-1/2"

Components & Subcomponents Start End
2/8 (6' 8-1/2") @ Start 3'4"
2X6 L (2x6 Dn) 51" 5'8"

2/0st (6' 8-1/2")

5l 8" 8! 4"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
Main Chicago 68/70

Panel #67 Length: 5'4" Height: 9' 1-1/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 10' 5-3/16"

L 5'4 )y
1 1
B
=| =
0 0|
i X X X i
Top Plates: 2x4 SPF #2 5'4" Bottom Plates: 2x4 SPF #2 5'4"

Studs: (5) 2x4 SPF #2 8' 8-5/8"



o r P | Producti
TrueBuild anelFrocuction

SOFTWARE SUITE

Bundle #5
Main Chicago 69/70
Panel #57 Length: 15' 1-1/4" Height: 9' 1-1/8" First Stud Face @4-1/2" (1' 4" o.c.) Diagonal: 17' 6-13/16"
L 15' 1-1/4" )
1 1
T 3-172"
(2) 2x10
6'10"
2'10"
X
6'10"
N m N N N N N N 2X6 L GtoH 2X6 L N
|

9'0-1/2
9'7-1/2"
9'9-3/4
13'1-3/4"
13'4
13"11"—

Top Plates: 2x6 SPF #2 15'1-1/4" Bottom Plates: 2x6 SPF #2 15' 1-1/4"
Studs: (9) 2x6 SPF #2 8' 8-5/8"

Components & Subcomponents Start End
2X6 L (2x6 Up) 9'0-1/2" 9'7-1/2"
GtoH (6' 8-1/2") 9'9-3/4" 13' 1-3/4"

2X6 L (2x6 Up) 13'4" 13' 11"



True BUIld Panel Production

SOFTWARE SUITE 10/19/2022
Bundle #5
Main Chicago 70/70

Panel #180 Length: 4' 0" Height: 8' 11-5/8" First Stud Face @1' 3-1/4" (1' 4" o.c.) Diagonal: 9' 9-13/16"

8' 11-5/8"
8'8-5/8"

I

Top Plates: 2x6 SPF #2 4'Q" Bottom Plates: 2x6 SPF #2 4' Q"
Studs: (4) 2x6 SPF #2 8' 8-5/8"




